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gfem (Mg/m?, g/lcm?)
call(g ) J/I(kg K) lcal/l(g )=4.184J/(kg K)
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S m
5 MPa  Pa 1kgf/cm?®=0.098MPa,
kgf/cm 2 2 2
N/mm 1kgf/lcm©=0.098N/mm
) MPa  Pa 1kgf/cm?=0.098MPa,
kgf/icm 2 2 2
N/mm 1kgf/lcm©=0.098N/mm
kgf N 1kgf=9.8N=0.098kN
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G m/s?® 1G=9.8m/s
rad/s rad/s
(T) kgfm N m,N cm 1kgfm=9.8Nm
s s
s s
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cm®/kgm m3/J, cm®/J 1cm®/kgm=1.02X10"m?/J
cm?®, g, mm g, mm
e Ea ) kgm/cm? Jicm? J/m? 1kgm/cm?®=9.8X10*J/m?
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(E) ’
( dB dB
Hz Hz
» MPa  Pa 1kgf/cm?®=0.098MPa,
¢ ) kgf/em N/mm? 1kgf/cm?=0.098N/mm?
() kcal/mh W/ m K lkcal/mh =1.16W/(m K)
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